






































1) 22 'tt 

2) 24 uft 

3) 26 f1 

4) 28 uft 

92. (3 sin� 0 t 4 eos 0) 1 GH H4 

l) 0 

2) 1 

3) 2 

D36185 

4) 3 

91. The radius of the base of a nght 

circular cone and its height are in 

the ratio 5: 12. If the volume of the 

cone is 2512 cm', then its oblique 

height is : 

92. 

l) 22 cm 

2) 24 cm 

) 26 cm 

4) 28 cm 

Minumum value of (3 sin ) + 4 cos0) 

1s : 

l) 0 

2) 1 

3) 2 

Ls3 

HTET TGT MATHS 2023 ( 03-12-2023 )
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93. V43-12V7 

1) 1 

3) 5 

1) l) yfu 

2) yftty 

3) yuts 
4) 

94. f n y qu qt 34CIAT 5 AIGT 

95. H 

2) 

1) 0.35 

3) 

16 

4) 

45 

1.35 

-1.35 

-0.35 

V16 +6/7 D369185 
2 

D369185 

2) 3 

4) 6 

93. The value of 43-127 

is : 

3) 5 

1) Rational 

2) Irrational 

94. If n is a natural number other than 

3) Integer 

a perfect square, then the number 

Jn is : 

4) Natural 

16 

45 
1s: 

2) 3 

95. The decimal representation of 

l) 0.35 

4) 6 

2) 1.35 

2 

3) -1.35 

L4}-0.35 

Vl6+6\? 
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3T-fr; a HT: 8 6 

34146: 

1) 440 g A4T 

2) 880 A 

3) 1760 A 

4) 240 

97. qc 4IH GTT a 80 at 

l) 480 q 

2) 360 

3) 240 A 

4) 80 q 

96. A hollow cylindrical tube of 20 cm 

long is made pf iron. If its outer 

and inner diameters are 8 cm and 

6 cm respectively, then the volume 

of iron used inaking the tube is: 

1) 440 cm³ 

2Y 880 cm³ 

3) 1760 cm 

4) 240 cm 

97. If the area of Ae base of a cuboid 

is 80 square m, the area of the 

other two ajacent faces are 

72 square cm and 40 square cm, 
then the volume of that cuboid is : 

y 480 cm³ 

2 360 cm³ 

3) 240 cm3 

4) 80 cm 
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98. 35 a v de 

1) 9.428 

2) 10.428 
3) 11.428 
4) 12.428 T 

4.6.5.7.9,8, 10, 4. 7,6. 6, 8, 8, 7,7 
2) 7 1) 6 

3) 8 

1) 2 TI 
2) 3 
3) 6 HT 

4) 9 TI 

D3 69 L8 
4) 9 

98. A cylindrical tank of diameter 35 cm 
is completely filled with water. 
11 liters of water is taken out frorm 
the tank, then how much will the 

level of the tank decrease ? 
1) 9.428 cm 

2) 10.428 cm 

) 11.428 cm 

) 12.428 cm 

99. The mode of the following data is : 

4, 6/6.29, a 10.4{738e6g.. 
2Y7 1) 6 

3) 8 

100. The radius of a wire has been 

reduced to one-third. If its volume 

remains the same, then the 

increase in its length is : 

1) 2 times 

2) 3 times 

4) 9 

6 times 

4y -9 times 
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101. qt 

102. 

1) 2 

2) 3 

3) 2 

4) 1 

1) 11 
2) 4 

3) 3 

TT B, tts x-2x -1-0 

4) 1 

103. 8 13 A H 22 yf e5 HI 

1) 16 

2) 22 

3) 32 

4) 64 

101. If a and are the roots of the 
equation x 2x -1=0, then the 
value of (a's,s aß) is: 
l) -2 

2) 3 

32 

4) 1 

102. For an asymmetrical distribution, 
if the median is ? and the mean is 

10, thern the mode is: 

2) 4 

3) 3 

4) 1 

D369185+ 

l) 16 

&) 22 

8) 32 
4) 64 

369185 

103. The mean of numbers is 22. If one 

number is excluded, then their mean 
is l6. The excluded number is : 

3M21 

Hlo 
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104. n HGA|30 a,, a,, 
n 

1) 0 

i=l 

3) n 

105. 4f 5 

17.32 f 

1) 10 g 0 

2) 100 

3) 1000 

2) 

4) 10000 f 

l) 1 

3) 

106. V4+4+v4t......... h H 

1-/17 
2 

l+V17 

4) 4 

2) 1 

2 

4) a 

D369185 

34 

a 

H7 : 

104. The average of n numbers a. a 

1s: 

) o 
3) 

l) 

2) 

of the cube is : 

3) 

a, is a. The value of(a, -à) 

105. If the length of the diagonal of a 
cube is 17.32 cm, then the volume 

n 

n 

is : 

2) 

3) 

) 10000 cm 

10 cm3 

100 cm3 

1000 cm 

106. The value of v4 + y4+4 + 

1-V17 
2 

4) 4 

4) a 

l+V17 

a 

n 

2 
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107. yf v3n = 729, Ta n HH 
1) 6 

109. 

2) 8 

3) 10 

4) 12 

108. n He0 Atr m m 

1) m t n 

2) 

3) 

4) 

mn 

mn 

m+ n 

2mn 

4) 

m+ n 

1) 0 

2) 1 

3) V3 

D3¬ 

YG tan 20.tar40 = 1, 1g tan 30 ai 
HG: 

D362185 

n 

TT 

107. If 3 -729. then the value of n is 

2) 8 

3) 10 

1) 

108. The average of n numbers is m and 
the average of m numbers is n. 
Taking all the numbers together 
the average is 

m tn 

2) mn 

3) 
mn 

m+ n 

2mn 

m+ n 

4) 

1) 0 

109. If tan 20.tan 40 = 1, then the value 
of tan 30 is: 

2) 1 

297 LD 

3) V3 

724 

8 
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110. qf 1 + 2 + 3 + 

111. 

x(x +1)(2x +1) 

1) 2500 

2) 2485 

6 

3) 2100 

4) 1330 

2) 

+ 19) 5 H: 

1) 45 fer 

4447 u hH9T: 30° qT 60° 

60 T 
3) 75 ter 
4) 30 Aa 

1) yg 
3) R 

2 
TS (1 + 3 + 5 + 

112. zf HeAd 352T 

2) 

+ x = 

8: 

l2 

4) T 

110. If 1 + 2 + 
x(x +1) (2x +1) 

(1²+3° og' + 
1) 280O) 
2) 2483 

3) 2100 

t 1330 

2 

2) 60 nfeter 
Y 75 teter 
4) 30 meter 

3 t 

111. When seen from the top of a 90 
meter high rock, the angles of 
depression of the top and bottom of 
a tower are 30° and 60°, respectively, 
then the,height of that tower is : 
1) 45 eter 

3) Four 

then the value o 

+ 19) is : 

(+ 92 4 

112. If the sum of two numbers is 352 

and their H.C.F. is 32, then the 

possible pairs of such numbers are: 
Y Five 2) Six 

4) Three 
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113. 

X: 

l) 8 

3) 

f: 

2) 9 

4) 

10 

12 

4 

5 

3) 

l) 36/3 t 

1) 26 

6 

2) 72/3 t 

3) 96/3 t 

10 

4) 108/3 f 

27.5 

9 

10 D369185 

bp369185 

10 

7 

25, 34, 31, 23, 22, 26, 35, 29, 18, 32 

2) 27 

15 

4) 28.5 

8 

113. The mean of 

distribution is 
X: 4 

f: 

2) 9 
3) 10 

4) 12 

6 

1) 36/3 cm? 

2) 72/3 cm' 

10 10 7 

3) 96/3 cm? 

the 

114. If the height of an equilateral 

108V3 cm² 

1) 26 

following 

triangle is 18 cm, then its area is : 

27.5 

10 15 

115. The median of the following data is: 
25, 34, 31, 23, 22, 26, 35, 29, 18, 32 

8 

2) 27 

4) 28.5 
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116. 1+343 t H: 
l) 1 

2) 2 

3) 3 

4) 7 

117. Te5 aT 84 T Mar gT 64 ÁcT 

2) 6 fT 

3) 8 T 

4) 10 r 

116. The value of 1+343 is : 

1) 1 

3) 3 

4) 7 

112. A garden is 84 meters long and 

64 meters wide. There is a path 

all around insde it whose area is 

1632 square Reters. The width of 

that path is: 

1) 5 meters 

2) 6 meters 

A) 8 meters 8 

D369185 

4) 10 meters 
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119. 

1) 16, 24 

2) 20, 20 

3) 25, 15 

4) 30, 10 

1) 30° 

2) 45o 

3) 60o 

4) 90° 

1) 3 

D369185 

3) 2 

1 

V3 D369185 

120. Y¢ sin + cosec =2, 1 (sin' + 

2) 1 
4) 2! 

118. If the sum of two numnbers is 40 and 

their product is 375, then those 

numbers are: 

1) 16, 24 

2) 20, 20 

3 25, 15 

4) 30, 10 

119. If the length of the shadow of a 
1 

vertical tower is - times its 

30 

V3 
height, then the angle of elevation 
of the sun is : 

2) 45° 

3) 60° 

4) 90° 

31s 

26 

2) 1 

120. If sin + cosec =2, then the value 
of (sin"0+ cosec" ) is : 

1) 3 

4) 2! 
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1) 331 

2) 22 gt r 

3) 11 qt ter 

1) 5 

2) 

21 

3) 

4) 9 qf fter 

4) 

21 

21 

11 

21 

5/3 

10V3 

2 

5V3 

121. The thre sides of a triangle are 

10 meter, meter and 14 meter. The 

area of thincircle of that triangle is 

) 33- Square meter 

3) 11 

11 

2) 22square meter 

21 

11 

1) 5 

21 

11 

21 

11 4) 9gquare mete 
21 

122. Two equa circles pass through the 
center of each other. If the radius of 

each circle is 5 cm, then the length 

of their common chord is : 

2 

square meter 

2) 5/3 
3) 10/3 

5/3 
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123. l4 (3x - y) : (x + 5y) =5 : I, e (x + y): (x- y) 

124. 

l) 1:2 

2) 2:1 

3) 3: 1 

4) 1:3 

1) 

2) 

3) 

4) 

HH: 

n 

2 

n 

2(n-1) 
n 

2 

n(n +1) 

HI: 
D369185 

D369185 

123. If (3x - y): (x+ 5y) = 5:7, then the 

value of (x + y): (x- y) is: 

1) 1:2 

2) 2:1 

4) 1:3 

124. The value of 

1 
is : 

2) 

3) 

4) 

n 

2 

n 

2(n -1) 
n 

2 

n(n +1) 

ab Wr 

3< -
I7a=324 

1 n 
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125. qft 

1) l) 125 

X+ 

3) 25 

126. febti 

1) 2-% 

1) 

4 

X 

40960 t1 4f GH 

3) 6 6% 
4 

1 

I0T 49130 a, at uftT qft 

/65 

=5, TG 

3/ 3) a5 /65 

2) 110 

4) 5 

1 
2) 5% 

2) 

4 

4) 7% 
4 

4) e5 4 

1 

65 

aHT 

125. Ifx+-9 then the value of 
X 

1) 125 

3) 25 

126. The population of a city 3 years ago 

was 40960. If the present population 

of that city is 49130, then the 

1 

percentage annual increase is : 

1) 2% 
4 

1 
6% 

1S 

4 

A 110 

4) 5 

D369185 

3/ 3) %5 /65 

2) 5% 
4 

4) 79% 
4 

127. If 2 letters are chosen from the English 

alphabet, then the probability of 

both the letters being vowels is : 

/65 

4 4) as 65 
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128. e6 4 9 Ii, 7 HE TeT 4 

1) 

2) 

3) 

4) 

36 

190 

57 

190 

63 

190 

81 

190 

129. f S, ayT ABC qfrbr TI 

ZÃ = 50°, T ZBCS I H : 

1) 30° 

2) 40 

3) 50° 

4) 60° 

128. There are 9 red 7white and 4 black 

balls in a badtf 2 balls are drawn 

randomly, the, the probability that 

both balls are of the same colour is: 

1) 

2) 

4) 

36 

190 

57 

190 

63 
190 

81 

190 

129. IfS is the circumcentre of triangle 

ABC and ZA = 50°, then the value 

of ZBCS is : 

1) 30° 

2) 40° 

G8169Ed 

3) 50° 

4) 60° 
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130. 3,5, 6, 7 A H n.t ig 
qer , rfs 

1) 5 
2) 7 

3) 9 
4) 11 

1) 98560 
2) 98540 

3) 98520 
4) 98550 

132. yfE 

l) v2 
2) 2 

3) 1 

4) 

1 

1+/e 

D369185 

DI69185 

1 

130. VWhich number is to be subtracted 

from each of the numbers 3, 5, 6. 7 

so that the four numbers obtained 

become proportional ? 

1) 5 

2) 7 

4) 11 

l) 98560 

13 The sum of all three digit numbers 
divisible by 5 is : 

2) 98540 

3) 98520 

Y98550 

132. If X+ 

1) 

2 

3) 1 

X 

4) 1+/2 

3 

3 

1s: 

64:!32 

=2, then the value of PGTPrim
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133. 

1) YGeh 

2) frgAR 

3) 5 

4) 

134. j* 24 qegot T 64 yo4 18 t 

1) 25-=% 
1 

3) 16 

4) 

3 

2) 31% 
1 

3 

2 

3 

33% 
3 

133. Progressive eduçation emphasizes 

learning by: 

1) Reading 

2) Writing 

8 Doing 

4) Enjoying 

134. If the cost price Si 24 articles is equal 

to the selling pice of 18 articles, 

1) 25-% 

then the percentage profit is : 

3 

31-% 
3 

2 
3) 16% 

D369£85 

3 

1 
4) 33% 

369185 

3 

h Work 

9185 
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135. qfx+ 

136. 

1) 18 

2) 36 

3) 54 

4) 72 

l) Ht 

3) TraHr 
2) S1H0HTLO 

1 

4) fTATTA O 

1) 4 

=l19 TT x > 1, 74 

D36915 

137. fe 12 9 h HH 20 A 

2) 

fart fe t ? 

3 

3) 2 
4) 6 

35 

135. If 

1) 18 

2) 36 
3 54 

the value of x 

4) 72 

1 

X 
4 

=l19 and x > 1, the 

1) Connectionism 

136. The branch of philosophy the 

2) Epistemology 

2) 3 

focuses on the nature of reality is 

3) Metaphysics 

3) 2 

A) Pedagogy 

4) 6 

1 
3 

1s : 

KA If 12 men do a piece of work in 20 
days, then in how many days will bu 

men do the same work? 
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3414: 
1) 1760 y 
2) 8800 y H A4 
3) 2002 y H4T 
4) 4804 y f 

139. 4Te s, Ay ABC 
ZÃ =30°, 7 ZBSC H 

l) 90o 

2) 100° 

3) 105° 

4) 110° 

l) gfayrRITf BEd 1) 

2) feaj 

3) e�t 

fy foraT 

GH:h TT 

4) 64 BE 

138. If the sum of the radius and height 
of a solid cylinder is 20 cm and its 
total surface area is 880 square 

cm, then its volume is: 

1) 1760 cm³ 
2) 8800 cm 

3 2002 cmin 
4) 4804 cm 

(139) IFS is the indentre of triangle ABC 
and ZA = 30, then the value of 

1) 

BSC is : 

90° 

2) 100° 

3) 105° 

369 f85 

4) 110° 

9185 

140. Special Educaion is related to 
1) Talented students 

2) Education for disabled 

3) Teachers 

4) Weak students 
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141. A, B 323 artrTeT U 

HHY yT ? 

1) 33 fH 

2) 35 feT 

3) 37 f 

4) 39 f 

30% TT 449% H GH HeI 

1) 10% 

2) 20% 

3) 30% 

D369 

4) 40% 

141. A is twice as good a as 

and together they complete a wotX 
in 26 days. In how much time 

A alone complete the same work ) 

1) 33 days 

2) 35 days 

3) 37 days 

39 days 

142. Two numbers are respectively 30 

and 44% less than a third number 

1) 

workman as : 

By what percent is the secono 

number less than the first number' 

10% 

22 20% 

4) 

3) 30% 

40% 
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143. yf 

X 

1) 1 

2) 2 

3) 3 

4) 6 

1 1 

X +1 

x +l y +2 z+1009 

l) 80 

2) 100 

3) 120 

2 

4) 140 

y +2 
1009 

D369185 
Z+1009 

143. If 

value of 

l) 1 

x+l y +2 z+1009 

2) 2 

3) 3 

4) 6 

2 
+ 

1) 80 

2) 100 

1009 

+ 

8 120 

4) 140 

144. If a child has a mental age of 6 

(IQ) of the child is: 

+ 

years and a chronological age of 5 

=1, then the 

X +1 y +2 z +1009 

years, then the Intelligent Quotient 

is : 
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2) yfay t fU 

3) J4iea fs 

146. fd a= 

a + ab+2 

1) 

a-ab + b2 

2) % 

V5+1 

3) 1 

/5-1 

4) % 

/5-1 
V5+1' 

145. According to John Dewey, schools 

must prepare students for: 

Research 

2) Futu life 

3) Entrépreneurship 

4) Present Life 

146. If a = 

1) 

2) 

36%185 

a= 
V5 +1 
J5-1 

the valueof 

/3 

4) 4/ 

D369183 
and b= 

V5-1 
V5 +1 

+ ab + b2 

a-ab+b 
is: 

the 
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qE 400 54 t. at 20% 

1) 1000 

2) 2000 

3) 3000 

4) 4000 

l) 636 

2) 1272 

3) 1908 

4) 2120 

D369185 

147. A watch was sold at a profit of 20%. 

If it had been sold for? 400 less, 

there would have been a loss of 

20%. The cost price of the watch is 

1) 1000 

2) 2000 7 

83000 

4) 4000 7 

148. If the area of a plot is 212 square 

is : 

yards, then the area in square fee 

1) 636 

2 1272 

3) 1908 

4) 2120 
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149. (5 qE 3ifT Hoy 1300 TT 

1) 5% 

2) 6% 

3) 7% 

4) 8% 

150. qf e6 HIT uf n q0 1 

ot (3n + 5n), TS 158 

1) 2641 yE 

2) 2741 Y« 

3) 284i y¢ 

4) 29d yc 

149. The marked price of a fan is 7 1500 

and a discountof 20% 1s given on the 

marked pricerNow, the additional 
discont given to a customer to keep 

the net price of that fan at? 1116 is: 

1) 5% 

2 6% 

3) 7% 

4) 8% 

D369185 

150. If the sumn of n terms of an arithmetic 

progression is (3n + 5n), then 158 is: 

1) 26" term 

27" term 

3) 28h term 

4) 29th term o 
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